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Q1 : Find the mean of the data set :

. 1) Cost of snacks5,6,5,10,9 | 3Omarscored9,0,2,1
546+5+10+9 = 35 Qv +i= :
| medind S ) WO s P Lo el - INPE
i e— — . ‘*
2 _ 20 %|Find the missing number : @
’ 701 75 ol %es il 72 12 Mean=3 , data:2,3,4,® :
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 cig it lgesame 0 zokad @1 31 ¥ adas mean ! o wad ;
‘;;é 584 +& o 7\ mean t gl Jall
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| %! 258 16 3x4=12 E
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;,é%‘{;_@ (;ean +3 12 q_B. :
QZ Find the missing value from data set:_ 9

1 Mean number of televisions in a home)j data set 1 2 4,4,2,0,

Fyz=al
al 13 =[8)°

=
1324444 +2 o= 13

megn

/ 5
. 2. Mean number of goals scored by the teaml4) data set: 7,3,4,a,1

H¥5 = a0

20-15=[5)
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434l = 15

minutes on Wednesday,
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é What is the mean number of minutes she spent on homewozrk?f S

| ® 275 minutes - =9 ate (©
? minutes 20 5 \_\\O | gk oL
 ® 18 minutes i 4o ‘
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g ® 30 minutes \\ 0
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Lamya spent(_p)mmutes on homework on Monday,(ZO)mlnutes on Tuesday,(40 )
minutes on Thursday, andOmlnutes on Friday.

T ETD

o



lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

Am Jaloot SCHOOL CHAPTER 11 (TERM3) 27/4/2020 N, |

LESSON 9 .. Median and mode & u‘);tn\i
(<a2¢)) Outcomes: Median ... <lisd) cud 5 day Jaw 5l u-‘3 u:'l-'.. gl sl 1
Mode .. 11Si JisY) asl
Q1 : Find the median and mode from set of data :
1) Cost of snacks: 6,10,10,12,10,11,4,6,8,9,2
L PO NsSe0ES Sy g@ 10,10, 10, 11,12
{ Median =....H........ MY (B Mode A G M

2) Grams of fat: 32,35, 34,33, 33,32

32, 32,[53,33) 34,35
' Median =....22....... 57 yMode = 22014 .23
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3) Data: 15,15,13,11,9,11,16,15
A, W, 513, 154 15, 15, 15

Median =..\4...... 5 Mode = ..}2.........
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0)0)0,0,1{2,2)3,%,%, 5, %

Mgafan — Q ...........

Mode = O ........
Q2 : Choose the correct answer :

D
1) Datais 45,55,53,55,53 themodeis:

a)55 Ess and 53 | c) 53

| 2) Datais 23,22,28,29,23, 25 the medianis:

225 22,23, 2979 28,29
b) 22 b) 28 W)
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| Mode = [)),5 4891 suall WS - L 55y Jaawgl § G g1 sutal :
1 R3S (e ouuds o Juel aazmi  Range = o il - duc 1S ‘
= SULI 58 duad] Sl :
j Q1 : Find from a line plot :
E Number of Raisins per Muffin /’( ‘
5 x f ) |
E x ¢
’ s
‘ X X X %X > 4 ® s
¢ > 5 i e i [N s i o e e e
; 1Y2- 8" a8 "8 7 "8 9 0 10 11 12 13 14 15 16 17 18 1920 /
’ mode = 5 median = 5 mode = [L‘f median = 'Lf
& 00 :
° range = K 0=z ¥ outlier =..1Q.. range = -90‘0 o outlier = ;20 /
. Q2 : Choose the correct answer :
. 1. The range of the set of data is X f
‘ e X : ;
: a.’3 I7-1%2 =4 %50 ‘5 5
; X X X X X ?
B > i
/ 10 11 12 13 14 15 16 17 18 19 20
/2. The outlier of the number of book is  Beoks Faran Reads Each Morih :
5 —_— ’
’ X
5 a- 2 " 8 ¢
g b. 5 X X X
g X X X X X X ‘
; @ >
/ 172894 56 7.8.9 10
; Vg’ The median Of the heights iS Heights of Fifth Grade Students (cm)
i \3.
’ ’ A X
d s X x
T g2 2 x};s.,x;x
/ X XX
g C:: 139 R DNRT] (| A | /T gt )|< L
¢ o | | i | 1 I 1 1 1 1 R
s 135 136 137 138 139[ 140/ 141[142 143 144 145
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Outcomes : Stem ( tens ) ...... leaves (once) 2\5.= 25

Ql Display the set of data in the stem and leaf plot and find : :
BusRide (min)  ESmIENGH 1%, 17, 24,2528, 30, 35,59 4

24 |14 |'25 |28 147 | 13 u—‘J’
' t117]|30)]3]|16]|39] 9 542 s 1, The Title %%?&%(mm)

: (ten) (once) ),s«}@‘ 2. Least number ﬂ ........
— e > £ 3. Biggest number At
: o 01 2 T V365 4. Mode ... L522%....
sly s 3 » 5, Median ...-?.Et.ﬁ .....
Sl PPV g.ganﬁe ‘1‘:;:\:5$ ........
wen iy ounee s 7.0utlier ...,

Q2 : Refer to the stem and leaf plot below :

a. How many players are there on

Ages of Player on Professional Teams
the team? Stem | Leaf

T L

= &, 212334455556 77899
! b. Whatwastheageofthe 3/011223456789
: RO 4101

youngest player?

;u 2 |3 =23 years

c. Whatis thelranée}of the ages of
theplayers? _____ 4= = 20
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Q2 : Choose the correct answer from stem and leaf plot :
1. What is the[range:) 102-513 =

Points Scored
o 82 P Stem| Leaf

.

5 Z The(outlier')is: 5(22358%9
e pam) 0 ®) 13565788
E 7

; 3. The{ median)is : ;/3 4 &4

10
a. 63 ‘b. 65 ) c. 67
| =
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